
1. Tu so rešitve za delo prejšnje ure: 

 

Učbenik str. 56 / 1 a:  

1 d,  2 i,  3 g,  4 k,  5 f,  6 a,  7 e,  8 j,  9 h,  10 b,  11c 

            Učbenik str. 56 / 1 b:  

            1 b,  2 i,  3 a,  4 d,  5 e,  6 g,  7 j 

            Učbenik str. 56 / 2 a:    

            1 climate change     2 Greenhouse gases     3 CO2   4 the ice caps   

             5  hurricanes      6 drought    7 fossil fuels   8 power stations   

             9  deforestation      10   rainforests 

             Učbenik str. 56 / 2 b: 

               deforestation    

 Učbenik str. 57 / 3 a:  

  1 cars, factories, power stations, aeroplanes, deforestation 

  2 carbon dioxide (CO2) 

  3 Sea levels will rise, many islands and coasts will disappear under the 

      water  

  4 hurricanes, heavy rain, high temperatures, drought 

  5 South America, Africa, South- East Asia 

  6 for wood for building and furniture, for land for farms 

 

 

 

 

 

 

 

 

 

 

 


